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Trading account is presented to find .
out :
(1) Cost of goods sold

(2) Gross profit

(3) Net profit

(4) Operating income .

Gross p'roﬁt is equal-to

(1) Cost of goods sold — Sales
(2) Sales— Cost of goods sold
(3) Sales— Operating profit
(4) Sales — Operating cost

Accounting entry for recording the

“payment of a telephone bill are

(1) Debit Capital Account and Credit
Cash Account
(2) Debit Cash Account and Credit
Telephone Expense Account
(3) Credit Cash Account and ‘Debit
~ Office Equipment Account

(4) - Credit Cash Account and Debit
Telephone Expenses Account '

Accounting entry for the repayment of

a loan received from Mohan, the

owner’s friend is '

(1) Debit Cash Account and Credit
~ Capital Account :

(2) Credit Cash Account and Debit

- Capital Account

(3) Debit Cash Account and Credit
Mohan’s Loan Account

(4) Credit Cash Account and Debit
Mohan’s Loan Account

The double entry system of book-
keeping was evolved by

(1} Stevenson
(2) Wilson

(3) Luca,Paciold

(4) Churchill
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10.

Opening balance of profit and loss
Account was ¥ 7,500, dividend paid
Z 1,500, closing balance of Profit and
Loss Account was ¥ 5,000. Net
income/Net loss was :

(1) Net loss X 1,000
(2) Net loss Z 2,000
(3) Net income ¥ 1,000
(4) Net income 6,500

Trial Balance is prepafed to check
accuracy of '

(1) Ledger accounts balances .
(2) Balance Sheet balances
(3) Income statement balances

~ (4) Cash flow statement balances

Which of the following is true about a

Trial Balance ?

(1) It lists down the balances of a
balance sheet.

(@) It lists down the balances of

accounts.

'(3) Itis akind of financial statement.

(4) 1t is not a part of accounting cycle.

The most suitable method for
providing depreciation on mines, oil
wells and quarries is

(1) Straight line method

(2) Written down value method

(3) Annuity method

-(4) Depletion method

Due date of a bill of exchange drawn
on 30" January, 2015 for one month
will be

(1) 29" February, 2015
(2) 3™ March, 2015
(3) 4" March, 2015

(4) 5" March, 2015
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(4) with the

- Under fixed capital method, capital
“account and

account is opened
foreach partner.

(1} Partner’s Drawing
(2) Partner’s Salary
(3) Partner’s Current
(4) Partner’s Commission

The liability of the partner in a firm is
(1) Zero

(2) Limited

(3} Unlimited

(4) Proportionate

To print a voucher from tally, we need
to press

(1) Ctl+P
(3) Alt+P

(2) Shit+P
(4) Ctrl+M

‘When shares are issued to promoters

for their services at face value, in
which a/c it will be debited ?

(1) Preliminary expenses
(2) Goodwill

(3) Assets A/c

(4) Share Capital A/c |

The shorteut key to quit from tally is

(1) Ctrl+L (2) Cul+p

3) Ctrll+M 4) Ctrl+Q

Al monéy received  with the:

application of -shares are to be

deposited

(1) with the controller of capital
issues

(2) inthe company bank account
(3) in a specific account opened in a
scheduled bank for the purpose
registrar  of  the
companies
i1
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Which of the following is not a capital

- reserve ?

(1) Asset acquisition
(2) Share premium

~ (3) Revaluation

(4) Capital redemption Reserve

An amount written off in respect of the
reduction in the value -of an asset
would be known as ' -
(1) Capital reserve

(2) Provision

(3) Revenue reserve

(4) Liability

Encashing the bill before the date of its
maturity is called ‘

(1) . Endorsement of bill

(2) Retirement of bill

(3) Discounting of bill

(4) Dishonour of bill

The .structure in which there is
separation  of ownership  and
management is called

(1) Sole proprictorship

(2) Partnership

"~ (3) Company

(4) A business organisation

Profits do not have to be shared. The
statement refers to

(1) Partnership :

(2) Joint Hindu family business

. (3) Sole proprietorship

(4) Company

A partner whose association with the

firm is unknown to the general public

is called

(1) active partner
(2) sleeping partner
(3) nominal partner
(4) secret partner
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-Who

‘The person who advanced scientific

Management principles is
(1) Weber
(2) Taylor
(3) Vest
(4) Fayol

worked on  administrative

management theory ?
(A) Fayol

(B} Parker

(C) Weber

(1) (A)and (B)

(2} (B)and (C)

(3) (A), (B)and (C)
(4) (A)and (C)

is the study of how to éreate_
an organisational structure that leads to
high efficiency and effectiveness. '

(1) Scientific management

(2) Job specialization

(3) Administrative management
(4) Allocation management

In capital markets, major supphers of
trading instruments are

(1) Liquid corporations

(2) Instrumental Corporations
(3) Manufacturing Corporation
(4) Government and Corporations

In primary markets, propeity of shares
which made it easy to sell newly
issued securities is considered as

(1} Money flow _
(2) Large funds-
(3) Decreased liquidity
(4) Increased liquidity
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The term marketing refers to

(1) new product _concepts and
improvements '

(2) advertising  and -
activities =~ :

(3) a  philosophy that stresses
customer value and satisfaction

(4) planning sales campaigns

promotion

A marketing philosophy summarized

by the phrase "a stronger focus on

social and * ethical concerns in

marketing is characteristic of the
period”.

(1) Production

(2) Sales
(3) Marketing .
(4) Social Marketing

Which of the following is not an
element of the marketing mix ?

(1) Distribution
(2) Product

(3) Target market
(4) Pricing

Method used to compute average or
central value of collected data is
considered as

(1) measurement of positive variation
(2) measurement of central tendency
(3) measurement of negative skewness.
(4) measurement of negative variation

If mean of percentages, rates and ratios
is to be calculated then central
tendency measures which must be.
used in this situation is

(1) weighted arithmetic- mean
(2) paired arithmetic mean

(3) non-paired arithimetic mean
(4) square of arithmetic mean
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The best measure- of dispersion to
compare between two colleges/
university’s result

' (1) Coefficient of variation

(2) Quartile deviation
(3) Mean Deviation
(4) Standard Deviation

Consumer price index are obtained by
(1) Paasche’s formula

(2) Fisher’s ideal formula

(3) Marshall-Edgeworth fonﬁula

(4) Family budget method formula

Which among the following is the.
methed to estimate the poverty line in
India ?

(1) Investment method
(2) Capital method
(3) Human method
(4) Income method

What is the average calories required
in rural areas for measuring poverty ?

(1) 2400 calories

(2) 2100 calories
(3) 2800 calories

' (4) 3000 calories

Full form of NABARD is

(1) National Bank of Agriculture &

Rural Development

- (2) National Bureau of Agriculture &

Rural Development

(3) National Board of Agriculture &
. Rural Development

(4) National Bank of Agnculture &

Regional Development

1
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NABARD was established on the

recommendation of

(1 Tandon Committee

(2) Crofee Committee

(3) Shivaraman Committee
(4) James Raj Committee

Which one of the following 1s not an
instrument of monetary policy ?

(1) Bank Rate
(2) Repo Rate

(3) Open market operations

(4) Deficit Financing

Seasonal unemployment refers to

(D Private Sector Industry

(2) Public Sector Industry |
(3) Agriculture
{4) Banks

Which of the following organization
looks after the credit needs of
agriculture and rural development in
India ?

(1) Finance Corporation of India (FCI)

(2) Industrial Development Bank of
India (IDBI)

(3) National Bank for Agrlculture and
Rural Development (NABARD)

(4) Indian Council of Agriculture
Research (ICAR)

Which one of the following is related
with Bharat Nirman Scheme ?

(1) Foodgrain production self
sufficiency o

(2) Family welfare programme

(3) Infrastructure Development

(4) Employment Generation Programme
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In which of the folldwing fields was
the first co-operative movement in
India initiated ?

(1} Agriculture credit

(2) Cottage Industry

{(3) Consumer Co-operatives

(4) Agricultural Marketihg '

Consider the following statements.
Identify the right ones :

(a) Organic farming. does not use
chemical fertilizers and chemical

pesticides.
(b) Organic farming can, over a
period of time, reverse soil

degradation and improve soil
health.

(a) only
(b) only
Both
None

(1)
2)
(3)
(4)

Which is not an example of alternative

farming ? .

(1) Use of crop rotation

(2) Integrated pest management

(3) Genetically improved crops

(4) No use of animal and green
nianures

Brown revolution is concerned with

(1) Operation Flood programme _

(2) Fish-seed production

(3) Food-processing

(4) Fruits and vegetables production -

Deficit-Budget is an instrument of
(1) Fiscal policy

(2) Monetary policy

{3) Industrial policy
(4) Agricultural policy
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A godd
‘employment 10

method
rural
utilizing fully is through

(1) Rural industries

(2) Agriculture

(3) Public works programmes -
(4) Cattle rearing

of providing
labour and

Which one of the following -1s not a
bad effect of Globalisation ?

(1) Cut throat Competition

(2) End of Protection

(3) Costlier Imports

(4) Costly Export

Which source is mostly used for
unemployment data ?
(1) Central Statistical
(CSO).

(2) State Planning Department
(3) National Sample -
Organisation (NSSO)
Resewe Bank of India (RB])

Organisation

Survey

Q)

is concerned with the
withdrawal of state from an industry or
sector partially or fully.
(1) Liberalization
(2) Modernization
(3) Privatisation

- (4) Globalisation

The Govt. of India constituted a public-
sector disinvestment corporation on

(1) 15" March, 1991

@) 23" August, 1996
(3) 23" September, 1993
(4) 6" May, 1994

Which Act was feplaced with the

introduction of Competition Act, 20(_)2 ?
(1) FERA (2) FEMA
(3) MRTP 4) POTA
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54.

55.

When was economic policy and
reforms councll setup in Rajasthan ?

(1) 2003 ° (2) 2004
(3) 2005 (4) 2006

What ‘word is more appi‘opriate
regarding the success in  the
1mplementat10n of economic reforms
in Rajasthan ?° :

(1} Progressive

(2) Moderately proglesswe

" (3) Slow

56.

58.

59.

{4} Uncertain

The term financial statement includes -

(1} Statement of Profit and Loss

(2) Statement of Profit and Loss and
Balance Sheet

(3) Profit and Loss appropriation
~account and Balance Sheet

(4) Statement of Profit dnd Loss,
Profit and Loss Appropnatlon
Account and Balance Sheet :

_Financial statements are :
" (1) Estimated facts -

(2) Anticipated facts
(3) Recorded facts

- (4) Standard facts

The analysis of financial statements by
a shareholder is an example of

(1) Internal analysis
(2) External analysis
(3) Horizontal analysis -
(4). Vertical analysis

The most rigorous test of liquidity is

(1) curent ratio

(2) absolute liquid ratio
(3) quick ratio
(4} net profit ratio

11
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The term “Fund” as used in Fund Flow
Statement means '

(1) Cash

(2) Current assets

(3) Current liabilities

(4) Current assets — Current liabilities

Which of the following is not treated
as uses of Fund 7

(1) Loss from operatlons
(2) Payment of dividend in cash
(3) Redemption of capital in cash

(4) Sale of fixed assets for cash

Which of the following is not a cash
inflow ? :

(1) Decrease’in Debtors

(2) Issue of shares

(3) Decrease in creditors

(4) Saleof fixed assets

Which of the following is not a cash
outflow 7 ' -

(1) Increase in Creditors
(2) Increase in Debtors
(3) Increase in Stock -

(4) Increase in prepaid expenses

Cost accounting provides all of the
following information, except

(1) Product costs

(2) Cost of goods sold
(3) Inventory values
(4) Cash forecasts

Which of the following
behaviour oriented
product costing ?

(1) Absorption costing

is cost-
~approach to

" (2) Marginal costing

(3) Process costing
(4) Job-order costing




66.

67.

68.

69.

70.

71.

W s\ A ¥ Frerifed wet B wergd
(1) =EA ftee™

(2) wuTHA gfw

(3) dwRR

(4) ¥ feBr o=

Suie # F 6 & ot i €, e
(1) Snrasr get

(2) HREHT IvARET

(3) weae 5w

(4) VT 5

o7 & & S gor o B vew = ¥
(1) vergamy

(2) U

(3) g S

4) Sutemg

R TR 1 SRR T NI e Teell
T |

(1) =i ol

(2) ITafoy sicheror

(3) weq 3iERT

(4) Tof ke

Tg i T “ueh ibereh U Yoy it
Hem e e germ d ety
(1) Hees R fem e

(2) T ®ie few 9

(3) gFEA Fo 3% woREE s
(4) =T TF TS 5% HY

=1 4 @ Sl ScbwioT o Favd T E 2
(1) TARTE o T B BT BT |

(2) =EmE i ol Reafs =1 9=

(3) IR T Tgh % g
(4) eI TRE

14

60.

67.

68.

69.

70,

71.

(@)

Direct labour costs would include
wages paid to all the following, except

(1) Machine operators
{2) Assembly line workers

" (3) Watchman

(4) Brick layers |

Overheads consist of all the following,

. except

(1) Indirect materials
(2) Factory utilities

" (3) Direct labour

(4) Indirect labour

Which of the following is not a
component of prime cost ?
(1) Direct materials

{(2) Direct labour

(3) Direct expenses
(4) Overhead

Which type of audit is condicted
throughout the year ? ' o
(1) Annual audit -

(2) Interim audit

(3) Continuous audit

(4) Complete audit

The judgement that “an auditor is not a
valuer” was given in

(1) Mckson and Robins case

{2) Kingston Cotton Mills case

(3) Union Bank of Allahabad Ltd.

case _
(4) London and General Bank case .
Which of the following is not an
objective of audit ? _
(1} ‘Minimisation of Errors and frauds
(2) Knowledge of financial position
of business .
(3) Evaluation of internal - control

system
Guarantee of truth

11
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72.

73.

74.

75..

76.

77.

A voidable contract is-

(1) not enforceable by law

(2) forbidden by law

(3) enforceable at the option of one
party |
enforceable at the option of both
the parties

(4)

Which of the following is not
applicable to the discharge of a
contract by mutual agreement ?

(1) By novation

(2) By rescission

(3) By subsequent impossibility

(4) By waiver

Which of the following is not a
remedy for breach of contract ?

(1) Rescission of the contract
(2) Restitution of benefit

(3) Suit for damages

(4) Alteration of the contract

The Consumer Protection Act, 1986
was enacted in

(1) 15" June, 1986

(2) 24" October, 1986

(3) 24" December, 1986

(4) 1% January, 1986

Members of State Consumer
Protection Council should not exceed

(1) Two
(2) Five
(3) Ten
{4) Three

Which of the following is known as

consumer disputes redressal agency ?

(1) District Forum -

(2} State Commission .
(3) National Commission
{4) All the above
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78.

79.

80.

81.

82.

'_ )

Which section of Companies Act is
related to the provision of compulsory
appointment of Company Secretary ?

(1) Section 204
(2) Section 203
(3) Section 202
(4) Section 201

A secretary should have knowledge of
(1) Company law '

(2) Tax laws

(3) Labour laws

(4) Industrial laws

The duties of Company Secretaries’
regarding company meetings are
restricted upto ' -

(1) before company meeting

(2) during company meeting

(3) after company meeting

(4) inall the above situations

Identify the best definitions of planning :

(1) The core activity of planners and
planning departiments

An integrated process in which
plans are formulated carried out
and controlled

)

Setting an organisations objective
and the means of reaching them

“4)

Devising ways of achieving the
objectives of an organisation

Co-ordinating people and human
resources to accomplish organizational
goals is the process of

{1) Planning
(2) Directing
(3) Management
(4) Leadership

11



83.

84.

85.

86.

87.

11

oy R § PRt § R P
fem sm@m? _
(l)ﬁﬁ%aﬁﬁéﬁwﬁmﬁ
() T Pl W wEE |
(3) AFh O HAT

(4) HE

frafotEd B @ B THT A uEY 9
s 7@ ¢ 2 .

(1) TEhe <. SEEE

(2) ¥, sfoe

(3) uster &, frferent

(4) 3T AT

gy

(1) TUHERE |
Q) W W HE
(3) U FREY
(4) v 1 TRt & )

T ST W et B

(1) Y HE FRAT

@) -fErE
(3) il T&
(4) Frior

AT, ST 3 T - ¥
2015 Fortioh 3R STifee fopam T 2

(1) ﬂw’r‘aqmﬁa(mﬂm

(2) T T @ i e e
(TTE)

(3) IR it b e ()
(4) . Toirem sfear fatiee |

17

83.

84.

85.

86.

87.

4

Which of the following would be
included in the “Controlling function” 7

(1) Measuring  results against

corporate objectives
(2)
(3)
4)

Explaining routines
Setting standards

Giving assignments

Which of the following is not related
to Human Resource Management ?

(1) Michael J. Jusius
(2). KK. Dewit
(3) Advin B. Filippo
(4) Dale Yoder

Co-ordination is -

1) Essence of management

(2) Function of management

(3) Objective of management

(4) Science of management

The operative function of Human
Resource Management is

(1)
2)
3)
(4)
«Rajasthan start-up Fest 2015” in
Sitapura, Jaipur was organised by

(1) Rajasthan Marketing Federation

(Raj Fed)
(2) National Bank for Agriculture and
3

to conduct research work
planning
recruitment and selection

controlling

Rural Development (NABARD)
Rajasthan Industrial Investment
Corporation (RIICO)

Resorts India Ltd. '
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There will be income-tax exemption to

startup for the first years.
(1) Two (2) Three
{3} Four (4) Five

“Who is known the “Father of White

Revolution” 7
(1)} V.Kurian
(2) M.S. Swaminathan
(3) J.P. Narain
(4) Baba Amte

consist  of  economic
economic policies and

conditions,

. economic system,

(I} Business environment
(2) Economic environment
(3) Natural environment

(4) Social environment

economy is not planned,
controlled and regulated by the Govt.

(1} Closed

(2) Capitalist
(3) Mixed

(4 Free Market

National ©  Agriculture ~  Insurance

Scheme was implemented on
(1) October 1997
(2) October 1998
(3} October 1999
(4) OctpberQOOO

Wh_ich one of the following is not a
failure of Green-Revolution ?

(1) Limited Crops _
(2) Incentives to Capitalist Agriculture

(3) Increase in Regional disparity

(4) Expansion of irrigation facilities

11



04,

£yt ) o ST

(a) &R s Ak 1991 F Th 90T &
= 3 ARp o T un R e

(b) S o quw, Rfdgw wiuf fde 1
FATIL 1991 & 1998 3 3R W 7]

B ki

(¢) Rifew winfa 3 <ol
=t Farerfeer = o |

PR S E?

(1) ¥ (a) # (b) T |

%rrti\w

(2) FEA(C)TEE |

9s.

96.

97.

11

(3) (@), D) ER@TE

(4) (2) #T(c) W E 1

fRe werm  arEreaE g
(1) U 3 (FDI)

(2) TH 3T 3T (FII)

(3) T W (BoP)

(4) TEEIAT(SDR)

frafet W 31 I ob F g et &,
NAWTACAT & -

(1) haet TR I T

(2) Sheret HEH T

(3) SR IS F T W

(4) e 7R W '

ST et & A SRR ael ¥

(Foreh wamR i 1 e SRS, I

2013) '

(1) - Tortr STt ek :

) o Frriar wifear o A 5% et
wE

(3) Foacen xesh sramen, Wk o Frafd
e % W 5% Tamd g

4y e e % § T trafa afr
F Y 5% N e

19

04,

95.

96.

97.

Consider the fellowing statements :

(a) The banking sector has been
subjected to the reforms as a part
of New Economic policy 1991.

The Banking Sector Reforms were
conducted on the basis of
Narsimhan Committee Reports 1 &
I1in 1991 and 1998 respectively.
The Nationalization of the banks
was one of the recommendations
of Narsimhan Committee.

Which is correct from the following ?
(1) Only (a) and (b) are correct. -

(2) Only (c) is correct.

(3) (a), (b) and (c) are correct.

(4) (a) and (c) are correct.

(b)

(c)

. The portfolio investment by foreign

institutional investors is called
(1) FDI

(2) FII

(3) Balance of Payment (BoP)
(4) SDR

Excise duty exemptions on exports is
available for duty paid on

(1) finished products only

(2) components only

(3) finished products and components
(4) imported items

Export promotion capital goods

scheme allows import of capital goods

(according to Annual Supplement to

Foreign Trade Policy, April 2013)

(1) free of import duty

(2) with concession duty of 5% with.
no export obligation '

(3) with concession duty of 5% with

export obligation 3 times the duty

saved

with concessional duty of 5%

with export obligation 8 times the

import made

(4
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98.

99.

100.

101.

102.

environment ?

Computer programmes are protected
as : o
(1) Copy rights

(2) Trade marks

(3) Patents

(4) Industrial design

Import of capital goods under Export
Promotion Capital Goods (EPCG)
scheme is subject to

(1) terms  and conditions of
‘agreement

(2) conditions of law of exporting
country -

(3) actual user condition

@

conditions of law of importing
country '

The Director General of Forei gn Trade
is appointed by :

(1) Central Government

(2) State Government

(3) Ministry-of Commerce

(4) Chief Justice of the Supreme Court

Economists tend to judge a model upon
(M
2)
3)
4)

the reality of its assumptions
the accuracy of its prediction
its simplicity |

its complexity

Which one of the following is not an
economical condition of economic .

(1) Banking system

(2) Tax structure

(3) Social conditions '_
(4) Insurance system

11
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103.

Whi.ch of the following is added to
National  Income while calculatmg
personal income ?

(1} Transter payments to indivi_dua_ls
(2) - Social security contributions

" (3) Corporate taxes -

104.

105.

106.

107.

(4) Undistributed profits

Which of the folloWing method is used
to calculate National Income in India ?

(1). Production method
(2) Expenditure method
(3)' Income method '
(4) All the above

The National Income estlmatlon is the
respon51b111ty of

(1) National Sample Survey
Organization (NSSO) '

(2) Central Statistical Organisation
. (CSO)

(3) Finance Ministry

(4) National Income Committee o

The purpose of making assumptions in

~ economic model building is to

(1) minimize the amount of work an

. economist must do

(2) simplify the model while keeping
important details .

(3) force the model to yield the
correct answer

(4) express the  ‘relationship
mathematically

Rural Landless Employment Guarantee
Programme introduced in .

(1) 1983
(2) 1986
(3) 1989
(4) 1982
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109,

110,

111,

vy

(@)

Public  Private Partnership (PPP)
miodel is designed primarily for

()

agricultural development

industrial development

(3) - infrastructure development

(4} wasteland development

Udyam Protsahan Sansthan has been

set up in Rajasthan for -

(I} assisting = the marketmg of
industrial products

(2) providing finance to  sick
industrial units

(3) providing incentive to new
.industrialists -

(4) providing  training to  new
entrepreneurs

Government  of - Rajasthan  has

supported to Scheduled Castes and
Scheduled Tribes’ entrepreneurs in the
following manners except

(I) Rebate of 50 percent in the
allotment of plots measuring upto
4000 sq. metres in industrial areas
Interest rebate of 2 percent on
term foan upto ¥ 5 lakh advanced
by Rajasthan Finance Corporation
50 percent reservation in
Management Development
institutes

Out of turn release of power
connections

2)

()

Which of the following is a basic
principle of finance as it relates to the
management of working capital ?

(1) Profitability varies inversely with
risk :

(2) Liquidity moves together with
risk

(3) Profitability moves together with

risk

4) Proﬁtability moves together with

liquidity

11
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1

I 3
[

() 3
o
RE)
' 2
) 9

What is the probability of getting a
sum 9 from two throws of dice 7 -

Mobile technology affects consumer
behaviour in which of the following

‘ways ?

W

It facilitates the use of location
based services

It stops  consumers comparing
prices in store

It makes consumer dCClSlOHS very
complicated

It shows down consumer decision
making '

(2)

(3)

(4

What does quantitative research
measures in marketing analysis ?

(1) Feelings and opinions
(2) Numbers and figures

- {3) Numbers and feelings

(4) Numbers and opinions

Four ‘P’s of marketing are

(1) Product; Price, Place, Promotion -

(2) Planning, Product, Price, Promotion

(3) Promotion, Purchase, Price, Product

. (4) Packaging, Planning, Price, Product
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116.

117.

What type of media helps advertisers
demonstrate the benefits of using a
particular product and can bring life
and energy to an advertiser’s message ?

(1) Broadcast media
(2) Interactive media
(3) Print media

{4) Support media

The  difference  between  total
expenditure and total receipts except
loans and other liabilities is called

(1) Budget deficit

(2) Fiscal deficit .

- (3) Primary deficit

118.

119.

(4) Revenue deficit

What will be the impact on the cash

reserves of commercial banks if
Reserve Bank of India (RBI) conducts
a sale of securities ?

(1) Increase

(2) Decrease

(3) Remains constant
(4) Increase or decrease

An economy pursuing expansionary
fiscal policy can witness :

(a) increase in fiscal deficit
(b) increase in wages of labour
(c) increase in rate of income-tax

Select the correct answer using the

‘codes given below :

Codes :
(1) (a) only

(2) (a) & (b) only |

(3) (a) & (c) only

“4) (@), ()& (9
11
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120.

121.

122,

123.

- ®

Which of the following functions is

not under the purview of the Finance

Commission ?

(a) Sharing of net proceeds of taxes
* between centre and states. '

Recommending principles for

governing the grants in aid to the

states by the centre. '

Recommendation on the matters

referred to it by the president for -

the interest of sound finance.

Preparation and  periodical

revision of electoral rolls.

Only (a)

Only (b)

Only (¢) & (d)

Only (d)

(c)

(d)

(1)
(2)
(3)
4

In which period the basic foundations
of physical, mental and personality
developments are laid 7

(1) Adulthood

(2) Adolescence
(3) Childhood
(4) Infancy

In the stages of cognitive development |
of Jean Piaget, which of the following

is included ?

(1) Formal operational stage
(2) Sensory operational stage

(3) Concréte operational stage
- {4) All the above

The statement that, a stimulus pattern
that is acting at the time of a response
will, if it recures, tend to produce that
response, indicates which of the
following theory of learning ?

(1) Hull’s theory of reinforcement

(2) Guthrie’s theory of substitution
(3) Field theory of learning

(4) Skinner’s reinforcement theory
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Which of the following statements

regarding  the  importance  of

Psychology in Teaching-learning are

correct ?

a. Helps to know the leamer

b. Helps the teacher to know himself

¢. Helps in effective learning
process

d. Helps in professional ,L_,rowth of
‘the teacher.

Select the correct answer from the

codes given below :

Codes : :

(1) a,candd  (2) a,bandc

(3) b,candd (4) a,c,bandd

According to Ausubel which kind of

learning has problem solution in it ?

(1) Rote learning

(2) Meaningful learning
(3} Discovery learning
(4) Continuous learning

- An exchange of facts, ideas, opinion or

emotions by two or more persons. is
called

(1) Interaction

(2) Transmission

(3) Communication

(4) Correlation -

‘Educational Psychology : Cognitive
View’ - is a book of which famous
psychologist ? '

(1) Albert Bandura

(2) David Ausubel -

~ (3) B.F. Skinner

128.
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(4) Jean Piaget

Which of the following is not a
function of Models of Teaching ?

(1) Designing of curriculum

(2) Development and selection of
Instructional materials

Guiding the teachers activity in
teaching

Selection of social skills

(3)
4

11
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130.

131.

132.

Which of the following is/are not the

.characteristics of computer assisted

learning ?
a. There is a purposeful interaction
between learner and the computer

device.

b. For helping the individual learner.

¢. To achieve the desired
instructional  objectives  with
- his/her own abilities.

d. To develop good thinking
strategies.

Select the correct answer from the
codes given below :

Codes : :
(1) aandb (2) candd
(3) onlyc . (4) onlyd

Which of the following statement is
not true about mental health ?

(1) Full and harmonious functioning
of personality.

Process of projection and reaction

formation,
Reduces
frustration.
Abilities to face and accept the
realities of life,

@)

tension,

(3)

conflict and

#

Which of the following is the basic
determining  factors  for  school
effectiveness ?

(1) Curriculum
(2) Teachers

(3) Management
(4) All of the above

Which 'psychologist gave the idea of -
behaviourism in education ?

(1) William James

~ (2) John Watson

(3) Thomdike
(4) Kohlar -
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133.
- its origin in physical sciences and

134,

135,
- asystem in their correct order :

(1} b,a,d,c

136.

The educational- technology ‘which has

engineering is _

a. Educational Technology I
b. Educational Technology il
c. Hardware Approach

d. Software Approach

Select the correct answer from the
codes given below : :

Codes : _
(1) aandb (2) bandc -
(3) aandc (4) aandd

Which of the following is not the
dimension of emotional intelligence ?

(1) Perception, = Appraisal . and

~ Expression of Emotions
(2) and - analysing

Understanding
emotions

3
4)

Innate capacity to solve problems
Emotional facilitation of thinking

Arrange the following ‘components of

a. Enwroumental context

'b.  Process -
C. Inpu_t
d. OQutput

Select the correct answer from the
codes given below

Codes :
(3) d,a,c,b

Which of the following is not a level
of Lawrence Kohlberg’s Moral

- development theory 7 |

(1) Conventional level -
(2) Pre Moral level
(3) Operational level

(4) Self accepted moral pﬁnmples level

11
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139.
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[

Point out the -stages of ~ moral

development according to Piaget
a. Transition stage
b. Concept learning stage

c. Constructive stage

d. Egocentrism stage

Select correct answer from codes
given below :

Codes :

(1) a,b (2) b,c

3) ad @) c,d

Which of the following is not true about

the constructivist principles of learning ?

Leamers construct their own
understanding and knowledge.

2)

New information is constructed
from prior knowledge.

3

Teacher’s role is most important
in the whole process.

(4) Learning is an active and dynamic
process.

‘Which of the foliowing period is

called age of puberty ?
(1) 6to9 years

(2) 10to 12 years
(3) 131016 years

(4) 17to 19 years

Which of the following statement is
not related to the utility of teaching-
learning material during teaching ?

(1) Good  substitute of  direct
experience

(2) Helpful in evaluation process of
teaching

(3) Clérity of subject-matter

‘Making class-room envnonment
alive and active '

“
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141.
' ~ deliver effective instruction are called

142.

143.

144,

145.

The resources which a teacher use to

(1) Teaching materials

(2) Secondary resources

(3) Primary resources
(4) Teaching techniques

Which of the following is not a step of
inquiry training model ? ' '
a. Data Gathering : Verification

b. Data selection : Approach

¢. Data gathering : E'xpérimentation
d. Formulation of explanation

‘Select the correct answer from. the

codes given below :

“Codes : N
(1) aandc (2) candd
(3) onlyb (4) onlyc

Social-contract orientation stage of

moral development is associated with
(1) Gilford (2) JeanPiaget
(3) Kohlberg (4) Thorndike

Direct methods of tension reduction
and adjustment are '
a.  Substitution of other goal

b. Removing the barrier

¢.  Sublimation

d. Seeking another path

Select the correct answer from codes
given below :

Codes : :
(1) ‘a,b,d (2) b,c,d
(3) ab,c (4 acd

Point out the elements of co-operative
learning : . :

a. Face to face interaction

b. Group work ,
¢. ~ Individual accountability
d. Cognitive learning

Select the correct answer from codes
given below : '

Codes :
(1) a,cd (2) b,c,d
" (3) b,a,d

{4} a,b,c
: 11
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Which of the following is not a
guidance technique for nurturing
mental health of adolescent ?
Humour, Friendship, Hobbies
Meditation and Spirituality
Hardwork,  Competition
Homework -

Self discipline, Self control, Soft
pedagogy '

)
)

and

(4)

Acquisition of habit, knowledge and
attitudes is called

(1) Instruction
(3) Learning

(2) Teaching
(4) Training

Which of the fol_lOwing is not a type of
learning according to functions ?

(1) Imaginative learning

{2) Cognitive learning

(3) Learning by skills
(4) Attitudinal learning

Which of the following is not a
variable of teaching ?
(1) Teacher

" (2) Parents

(3) Curriculum
{4) Student

Why good communication skills are
mmportant for teacher ?

a. For effective teaChing-leamin.g

process :

b.  For good relationship with parents

¢. For teaching - individuals and
groups '

d. For his own satisfaction

Select the correct answer from codes
given below :

(1) a&ec
(2) b&d
(3) a&b _
(4) All of the above
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